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Christmas Keyword Transformations

1) Santa ate so much Christmas pudding that he couldn’t fit down the chimney
RESULT
Santa was unable to fit down the chimney too
much Christmas pudding.

2) | would often go Christmas shopping with my mother when | was a kid.
USED
My mother shopping with her
when | was a kid.

3) Without a receipt they will not return the money if the present is unsuitable.
REFUND
They will not you have
the receipt for your unsuitable present.

4) Because of heavy snow, children are advised that Santa will be unable to deliver
his presents this year.
CONSEQUENCE
Children should find an alternative way of receiving their presents this year
Santa being unable to deliver them.

5) The children were hysterical when they found out that Santa doesn't exist.
ACCOUNT

e was hysteria in the classroom

at Santa isn't real

g eaten all the Christmas pudding, Santa then drank all the Whiskey and
ad-by the EIf police for driving a sleigh when he was drunk. Y &

g

all the Christmasgudding,
isk:iy_ and as a result was cautioned for drink driving gy the EIf
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